EE 475 Quiz 8
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For a unity feedback control system with open loop transfer function Go(s) and only a reference input r(s), 
a. The system type N = the # of


 in C*G denominator.

b. It is also equal to the # of


 in C(s)G(s).

c. the position error constant Kp = 




, 
d. the velocity error constant Kv = 




, 
e. the acceleration error constant Ka = 


       

,

f. the ess due to a step r(s) is ess2step = 




, 
g. the ess due to a ramp r(s) is ess2ramp = 



, 
h. the ess due to an acceleration r(s) is ess2acc = 



.  
i. If system type = 1, ess2step=

, and ess2acc=


.
